




f(X,Y,Z.LCo  = x2 + 3y* + 2z2+  1(x-2Y-z-6)  + p(x-3Y+2z-4)

Fx = 2X+A+p=O

FY = 6y-2  A -3 ,U = o

F z = 4z.-1+2/.,~=0

FA = x -2y-z-6  = o

F
v = x-3y+2z-4  = 0

dmJm-a1~  x = ‘$2 ) Y = 18, z =‘C

2 . 2  f(X,Y,Z,) = x 2 + Y = + ~2~Yilbbih

x -+  Y + 22,  = 1 ua:

3x.2y+ z =e4

f(x, Y, Z,AP)  = Xi’+ Y2+  z’+A(x +Y +2Z-l)+p(3X-2y~i-z+4)

Fx = 2x+1+3p=O
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i&i1 WGY) = 200+Io~+Yz

x+ Y = 12

IX &( x, Y) = x+ y-12
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P(x,y)  = 3x2-50x+3y2-2Oy+5xy

P&y)  = 3x2-50x+3y2-2Oy+5xy

x+y = 50

7x gky)  =x+y-50 = 0

WLY,  A ) = P(x,Y)+  A g(x+y)

= 3x2-50x+3y2-2Oy+5xy+  A (x+y-50)

FX = 6x-50+5y+  A = 0

FY =  6y-20+5x+  A  = o

F
A

= x+y-50 = 0

6ln"ni~l~YX x = 4o.y  = 10

fhk<%'(k?  = P(40,lO)  = 4,900 ¶JlW

Y%hW%&W?U61"7rlim  A FlOfllJl 40 Wlh ME%?Prn"l%~~ BlO HIhU
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